Send-A-Problem Example
Economic Performance and Policy Recommendations

1. As a group you have 10 minutes to answer the following questions.  You should develop an answer which is clearly organized and includes sufficient explanation so that a person outside your group may understand them.  Please place your answer on a separate sheet of paper.  When your answer is complete, or time has been called, place your answer in the attached envelope.

In order to make the best use of your limited time, students will take on the following roles:

Facilitator: The student with a last name which appears first in the alphabet is charged with reading the scenario presented below, participating in the discussion and keeping this discussion on task.

Reflector:  The student with a last name which appears last in the alphabet is charged with participating in the discussion and making certain that discussion points raised by other group members are clearly understood by all in the group.

Summarizer:  The remaining student is charged with participating in and summarizing the discussion as it pertains to the problem at hand, and recording this as a well-organized answer.

The Problem:

The country of Econation is operating at full employment but policy makers believe the current inflation rate of 10 percent is too high to be consistent with economic efficiency and long-term economic growth.
a. Provide a graphical presentation (along with a brief explanation) of current economic conditions in Econation.
b. You have been charged with recommending a policy change that would rectify the problem noted by policy makers.  Provide a description of this change and a justification for using this as opposed to an alternative policy.  
c. Show (and explain) this policy change using your graph in part a.


Follow up question for groups that finish the exercise earlier than their peer groups.
d. Describe two drawbacks/problems associated with the policy change you recommend.
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2. As a group you have 10 minutes to answer the following questions.  You should develop an answer which is clearly organized and includes sufficient explanation so that a person outside your group may understand them.  Please place your answer on a separate sheet of paper.  When your answer is complete, or time has been called, place your answer in the attached envelope.

In order to make the best use of your limited time, students will take on the following roles:

Facilitator: The student with a last name which appears first in the alphabet is charged with reading the scenario presented below, participating in the discussion and keeping this discussion on task.

Reflector:  The student with a last name which appears last in the alphabet is charged with participating in the discussion and making certain that discussion points raised by other group members are clearly understood by all in the group.

Summarizer:  The remaining student is charged with participating in and summarizing the discussion as it pertains to the problem at hand, and recording this as a well-organized answer.

The Problem:

Ecostates is currently operating at full employment.  OPEC begins a policy of restricting oil production, driving up the world price of oil.
a. Assuming policy makers do not take any action, describe what will happen to prices and output in the short run and the long run.  Show this graphically. 
b. What problem(s) has developed in this economy as a result of OPEC’s actions?
c. You have been charged with recommending a policy change that would rectify the problem(s) noted in part b.  Provide a description of this change and a justification for using this as opposed to an alternative policy.  


Follow up question for groups that finish the exercise earlier than their peer groups.
d. Describe two drawbacks/problems associated with the policy change you recommend.
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3. As a group you have 10 minutes to answer the following questions.  You should develop an answer which is clearly organized and includes sufficient explanation so that a person outside your group may understand them.  Please place your answer on a separate sheet of paper.  When your answer is complete, or time has been called, place your answer in the attached envelope.

In order to make the best use of your limited time, students will take on the following roles:

Facilitator: The student with a last name which appears first in the alphabet is charged with reading the scenario presented below, participating in the discussion and keeping this discussion on task.

Reflector:  The student with a last name which appears last in the alphabet is charged with participating in the discussion and making certain that discussion points raised by other group members are clearly understood by all in the group.

Summarizer:  The remaining student is charged with participating in and summarizing the discussion as it pertains to the problem at hand, and recording this as a well-organized answer.

The Problem:
On May 25, 2001, Congress passed the Economic Growth and Tax Relief Reconciliation Act (EGTRRA) or 2001, which President George W. Bush singed on June 7.  The EGTRRE made significant cuts in income tax rates and also provided for one-time tax rebate checks of up to $300 for individual taxpayer and up to $600 for married taxpayers filing a joint return.  Millions of families received these check in August and September of 2001, with payments totaling about $38 billion.  Why did the federal government send out these checks?
a. Provide a graph and explanation for the state of the economy at the time this Act was passed.  Explain the problems that this economy faced that lead to this ACT.
b. Explain why the Act could be expected to rectify the problems associated with this state of the economy.  Show the expected impact of the Act on your graph.
c. What other policy changes could have been proposed that would rectify the problems(s) noted in part a?  Provide a description of this alternative policy and show (on a separate graph) how this would impact the economy.


Follow up question for groups that finish the exercise earlier than their peer groups.
d. Describe one drawback/problem associated with the Act as a way of handling the economic problems you identified in part a.  Describe one drawback/problem associated with the alternative policy you proposed as a way of handling the economic problems you identified in part a.  

